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2015 section II, #3 – NO graphing calculator required
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					        You need equation for acceleration, and appropriate units label. 	












2015 section II, #6 – YES graphing calculator allowed!!!
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[image: ]1998 section I, #10 – NO graphing calculator allowed!!!














[image: ]1998 section I, #13 – NO graphing calculator allowed!!!
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1998 section I, #18 – NO graphing calculator allowed!!!
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1998 section I, #80 – YES graphing calculator required
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18.  An equation of the line tangent to the graph of y = x+cosx at the point (0.1) is
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80. The first derivative of the function f is given by f'(x)=

does f have on the open interval (0,10)?
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Johanna jogs along a straight path. For 0 < ¢ < 40, Johanna’s velocity is given by a differentiable function v.
Selected values of v(7). where 7 is measured in minutes and v(7) is measured in meters per minute, are given in
the table above.

(a) Use the data in the table to estimate the value of v/(16).
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(c) Bob is riding his bicycle along the same path. For 0 < ¢ < 10, Bob’s velocity is modeled by
B(t) = 2 — 6> +300, where ¢ is measured in minutes and B(t) is measured in meters per minute.

Find Bob’s acceleration at time ¢ = 5.
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Consider the curve given by the equation y3 — xy = 2. It can be shown that Z—‘ =
Ad

3sz —-x

(a) Write an equation for the line tangent to the curve at the point (-1, 1).

(b) Find the coordinates of all points on the curve at which the line tangent to the curve at that point is vertical.
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(c) Evaluate T: at the point on the curve where x = -1 and y = 1.
x
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10.  What is the instantaneous rate of change at x =2 of the function f given by f(x) = ——
x—
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13. The graph of the function f shown in the figure above has a vertical tangent at the point (2,0) and
horizontal tangents at the points (1,—1) and (3,1). For what values of x, -2 <x<4,is f not
differentiable?
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